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2% 192 1YY — And it stuck to the face of the brick he is 291

Overview

Our X773 teaches that if someone threw an object and it stuck to the side of a
brick, he is 2. We know that generally to be 217 there has to be a 3"y 7im7
"7 opn. mooin will be discussing how is there a '7 23Pn in this case of the
brick.

TRhwR 79ynY n1 axT an wan R — The n''1 says that if it rested on the
face of the brick higher than three o'rov from the ground'

TYIIR DY IYaTN 79152 R X — it is necessary for the face of the brick
to have an area of four 2°15v by four onoy, and only then is he 271

TP IS 2WN 710abT Y12 paTRw Y — because the fact that it is stuck to

the face of the brick, that is considered as if it is resting on the brick, and
therefore he is 21, because there was a '7 5V '7 210 A"y nman.

TMIR2 KON WKW D Yy X — even though in reality it is not resting on the

brick, but it is suspended in the air, nevertheless we consider it as if it is resting on
the brick which is a '7 5v '7 0.

TOR2 P "% Tun® AnT 87 19 — and similarly that which we learnt’ in a
mwn, that if someone threw an object at a wall, and it came to rest on the
wall lower than ten 2°19v from the ground, it is considered as if he threw it
on the ground, and he is 21

7MW T9OaT2 AT %21 1R Py — and JamY van explained that the mwn is

referring to a case where someone threw a fat fig, which stuck to the side of the
wall,

1 RRYY 119577 - we must use the same explanation

b "2 paTiw 3107 — that since it is stuck to the face of the wall

'7 5 '7 217 KW — which has an area of '7 5y '7

oY m3ms 2w — it is considered as if the fig is actually resting on the wall.

3R Topnad ANT W'D R'"2"M — however the X''2°1 maintains that even if the
object stuck to the face of the brick/wall above three 2’nov from the ground
"7 5y "7 5Ny 710a%7 "1D2 NIOW pa KV — it is not necessary that the face of

the brick or wall should have an area of "7 %Y '7 in order for it to be considered
a proper 7117 and be 21

"If it is lower than three o°mdv there is no need for a '7 2¥p», since below three it is considered to be resting
on the ground proper.
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Ypapn DR IR 31997 — because, since the object that is stuck to the face of
the wall is suspended above the ground

Ypap o923 By mms 29wn — it is considered as if it is resting upon the
ground, and therefore it is a proper '7 9y '7 01 2" 7137 and he is 27

(8,7 77) DT PRIRS 129 7w — The "1 has a difficulty with the view of the
X"2"7; for we find previously —
17° VRDT PNINRKR 7990 %0 — when the X713 asked on our mwn, which states

that if he stretched out his hand into another domain and placed it in the hand of
the receiver he is 2°°11, on which the X 03 asks -

PIIR 20pR 33 DYn I 7Py va XM — why is he 21, we require an
'T 2R 2O I 999V, but according to the X"27, this question may be answered,
by

7T PIV2 YIRS purAna P RvInn ¢ — qualifying that our miwn is discussing a
case where the object is being held in such a manner

ypapn %1 N IR — that it is suspended above the ground, which
according to the X"2™ is considered as if it is resting on the ground; so there is a '7 Dpn.
Therefore what is the question of the *x713?

Summary
If an object is thrown 1"772 X"7 and sticks to the side of a wall; if it is 75vn?

“n, he is always "o, if it is " nvn? he is always 21, between '3 and ",
according to the n"9 if the area of the wall is "7 %¥ '7 he is 211, otherwise he
1s Mwa. According to the X"2°, he is always 2711 regardless of the area size.

Thinking it over

1. According to the n"9 that we consider it, as if it is actually resting on the
wall/brick on a "7 0Wpn; since it is '\ 771, why is it not considered as if it is
resting on a n°"on13?

2. According to the X" since we consider that ¥YpIpi %19 X7 is as if it is
Ypp A"y nnn, then why are you not 217 even if it landed "n 7199157

3 See w"x77 'oIM X"2w", who answer this question on the X"2™.



